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TEA 642 1,537 186 15112 11 22 14 8
EJTIPN 9 13 6 1
&K 63 164 95 69| &R 4 11 6 5
LB 157 380 195 185w 317 14 35 39
TRH 96 125 56 69
Z IR 14 36 19 176 &’ 414 901 452 449
ii]m] 31 84 44 40
FEE 42 88 44 A4 3L %R 242 554 276 218
— g 12 173 86 87|—-=8 102 209 107 102
Ti& 68 145 82 63 3R 19 35 19 16
AE 61 172 88 84(|tL4L 32 66 31 35
P8 33 82 38 A4(|%E)1 19 37 19 18
L 18 44 17 21
BAF 2] 44 22 22078 & 108 215 116 99
LHEA 352 190 399 391|mz0 31 66 35 31
AR 16 29 16 13
E2n 18 34 15 19| 23 53 29 24
AL 62 139 13 66| A LR 18 35 20 15
AFR 31 68 36 32(|& L 20 32 16 16
WmESH 14 34 19 15
ITES2 24 50 26 24| B R 130 258 126 132
&8 35 90 46 44
TR 11 32 18 14|[FE P EF iz 68 139 69 10
A 18 21 13 14|=H i 62 119 57 62
& 3 3 2 1
BER 20 50 26 24 iR 28 39 14 25
e AT 18 42 23 19
Lif 98 221 102 19|+ &= 28 39 14 25




BT 4 | #H&EH | A0 3 £ BT 4 | &% | A0 ] s
5 i it 3 2,308 5 711 2,796 2,915
5 i 2,308 5 711 2,796 2,915
EiRETHER 101 273 137 136
5 iRETILR 49 110 49 61
S iRET 5 4R 1,123 2,645 1,289 1,356
5iREIE SR 382 1,021 514 507
5iRETA SR 160 433 208 225
5 iR BT & 26 65 30 35
EiRETE A 18 46 24 22
S iRETHH 11 34 14 20
5 iR BTRE b 26 67 31 36
BiRETSiE 30 83 39 44
5 iR BT 5B 26 77 38 39
5 iRETE R 44 120 58 62
5 iRETIA 2 106 271 141 130
5 iRETIE 3 92 225 107 118
5iRETIE 4 34 50 24 26
SiRETIHLL 1 80 191 93 98
JI A Hh 35 1,449 3,695 1,788 1,907 REHEREXRS RIS AD - HHFSH
Ja 1,449 3,695 1,788 1,907
RE™24& | 110,765 253,596| 124,398 129,198
NioFnmEE 109 272 134 138
niad 101 281 141 140| | shsk 82,790 184,206 90,303 93,903
=IO 375 922 438 484|[th Z B 1thig 3,850| 10,396| 5,149| 5,247
IO 457 1,123 522 601 |[f#s 2% Hh 155 4,789 12,593| 6,119 6,474
nos$Ey e 129 372 190 182||= &t 2, 466 6,193 3,048| 3,145
NoOREE 45 121 60 61||L & 355 709 357 352
nai 84 216 106 10|/ E sk 1,785 4,078 1,994 2,084
naxEa 11 25 13 12||%0 & Hh i 1,294 3,400 1,662 1,738
naxiR 24 40 217 13|[F e Hhi 3,170 7,912 3,898 4,014
N[I=1"3 2 5 3 2|14 R a3 6,509| 14,703 7,284 7,419
NB@AEEWL 112 318 154 164|5 itz 2, 308 5,711 2,796 2,915
=g} = 1,449 3,695 1,788 1,907




